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1. Answer any two questions from the following: 3x2=6

fasfee @-ce 76 elvss Teg wies

(@) What are the causes of trade between two countries?
ufb (reet Sieg Aifeley AR Pigeiefer i @ 9

(b) Define comparative advantage when labour is the only factor of production.
N IY TLAMCAR GF AN G G Gefalferss 3 FRE A 7G|

(c) What isthe difference between optimum tariff and prohibitive tariff?
I ©FH S 2SI SFRIER W AL [ 9

(d) What isthe role played by demand in the Heckscher-Ohlin model ?
EIR- S TCTC biflEnF o & 9

(e) What is‘Metzlers Paradox?
IoeECER il & 9

Answer any one question from the following:
TS @-IE 95 et Ted wies

(@) Show two special cases where the entire gains from international trade are
due to production specialization and entire gains due to exchange.

i R SR i R @I AT 6T Aferey (A a7 7o)l SesimeTa
R (0 @R RIS T[] (e 783 23|
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(b) What is meant by Leontief Paradox? Give two possible explanations of this

paradox.
eRMTLEICF SoTeII @10 & @ICAN 9 92 FHIONIER 76 TSRy I wie |

(c) Derive the Marshal-Lerner condition for stability of equilibrium in

3.

international market.

e (foF G SRACT FHfoere cweg E-aa -3 @it ez st

Answer any three questions from the following:
e @-@IE! foqft 2t Ted nies

(@ (i) Defineand derive the offer curve of a country.

@I (M0 ey AW @R 7R WS € ey 24w @A fwee Tt

(i) Define and derive offer curve elasticity. How is import demand
elasticity and export supply elasticity related to offer curve elasticity?

ffey e @A Bfogreer e nie ¢ [ @ Ssmial bifzwie
Bfogrre 8 I @ANTe EfeTeimel T Afdey e @A TR
e =

(b) Prove that under price definition of factor abundance, Heckscher-Ohlin

theorem is always true but under physical definition, only with identical and
homothetic preferences.

2o FCE! @, TN SHEE Wi IR S @R-efor aferiw 7o
form, g Tomiere 2lprdd ceTe kel SR @AF-eferd T 2 F00
IPTET 8 @R Bifen @3 (6 SRR =19

(c) (i) Anayzethe partial equilibrium effects of tariff and import quota.

R SITARTRER SmiN @F @ 2{f7wiiaie fFrace Fares [esed
(i) When shall the effects of these two be equivalent?
TR TN U IR 24 2

(d) (i) Show that Balance of Payment is awaysin balance for a country.

W18 (@ A [oF FTeIne Q0o T2 SRP) [RArs F6 |
(if) Distinguish between Autonomous and Accommaodating transactions.

FREFT 8 IR e N K 9

(ilf) How do you relate the current account deficit with Government budget
deficit and domestic private investment saving sector?

BeTfeRICe qbled (5 FPIR! ACEH WoFs @ eneredid 7y - K qibfe
RFOIR T Rge ol 147 FEN |

() (i) What do you mean by internal and external balance of an economy?

3040

I (MR LR Sreree 8 RS 670 F @I 2

(i) Explain how the internal and external balance may be simultaneously
attained with the help of Swan-diagram.
IFE A TorEqel ¢ RSN [Fe wfee zre @ o Swan oraw
AR I R

3+6

15x3 =45

(2+4)
+(4+5)

15

10+5

8+2+5

2+8+5
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(iii) Discussthe Assignment problem in this connection.

92 &0 SRS TR g S

Group-B
otl-4

4, Answer any three questions from the following: 4x3 =12
fefeie -l foqfs elts Ted nies
(@) What do you mean by ‘ excess burden of taxation’?
IEE SfoRE @RI 0o & @IRN 9

(b) Distinguish between revenue deficit and budget deficit in Government
finance.

I ACHCE ST MBI € AEH AHiod #i1dww (ware |

(c) What are the advantages of income tax over expenditure-tax?
S G QT SRR HRanese 6 6 ¢

(d) What are the merits and demerits of G.S.T?
G.S.T (7o »IfRea1 39 @3 Rl @ wpfRaiesfer 6 &6 9

(e) Distinguish between internal debt and external debt.

SIreredel e @ IRy AR Sy ML @S|
5. Answer any two guestions from the following: 14x2 = 28
fersfeife @-ceiea 7fo aeis Tea wies
(& What are the problems of defining income for tax purpose? Compare the 4+10

effect of a proportional income tax with that of a progressive income tax of
equal yield on work effort of atypical worker.

37 R owE SR kel MR wemiel & & ¢ @ Jfes 5 anek
T T AST GAM IR AT @ elaifSRieT SFER R HE= S|

(b) Critically explain ‘ The ability to pay’ approach to taxation. 14
TG TR el e fEn I FCI|
(c) “An indirect tax imposes an ‘excess burden’ compared to a direct tax of 14

equal yield”. Do you agree with this view? Give reasons for your answer.

I AqErF B 2o IR QIR AACEF T oS @RI qE I’ 92
wiEeEE Al il 6 720 w9 Terad FHrE e e |

(d) Write short notes on the following: 7x2=14
e Ranefm Saa =g Biet e
(i) Balanced Budget Multiplier
1S =) NS WoT
Turn Over
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(ii) Double taxation of Savings.
FEIE €7 YR T SN |
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Group-A
o5
1. Answer any six questions within 150 words each from the following: 4x6 =24

AaRiRe @-@ 2710 2 Ted nie &fol seo *itwa s

(a) Statethe impact of Green Revolution in Indian agriculture.
SIICSR FRC I [RARE el Sras @l
(b) Mention the reasons for deceleration in the rate of industrial growth in India
in the mid-sixties.
SoL0 §F WHEE TRINIRI TN SRce Fel Tesiwmiad QR FNRwien PR
TEd IR
(c) Mention the reasons for monopoly in Indian industries.
wlred R (Fea G HAIR TuraE TR SrE S|
(d) Explainthe concept of Goods and Service Tax.
o) @ #IfACRN SR (G S T) A= AT B |
(e) Define the concept of Fiscal deficit and Budget deficit.
ey 610 =R CSE W(BIo Qe e ws |
(f) Explain the concept of inclusive growth.
2T g IRt 1T A
(g) Write anote on the unorganized labour market in India.
TRCS SPRAMIS ST e fea Bt el
(h) State the weaknesses of the public sector in Indian industries.
SCeH IR 4% CFCa FeToiasfe] Srard Tl
(1) Mention some of the impacts of globalization on Indian industry.
OICe (15 (T[RRI SRS Lo SCa S|
(j) Write anote on the impact of demonetization on black money in India.
ORI I IR Goica [Rmipaicers eroii— KA 9o fb b (el
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10.

11.

3041

Group-B
Totl-4

Answer any two questions from the following

fasferie @-cea 76 evse Teg wis

Discuss the impact of economic reforms on unemployment problem in India
BIACS @O APV TI0a FAF FFHIEF 2SR o S |

Critically evaluate the export-import policies of the Government of India
since 1991.

Sopd I (AP OIS IR SHIA-AGA qifod G5 AT TR
M

Write a note on the impact of globalization on Indian agriculture.
OIRICed F (Fae T AR 2ol e 9 Biel eean
Discuss the problem of growth along with equity in Indian economy.

SO WLOCS FTaSIR A Jfard TG A I |

Group-C
Rretat-at

Answer any four questions from the following
feefere @-ceiet s1afe eltas Tea nie
Discuss the nature of unemployment in rural India Criticaly evaluate the
role of MGNREGA in this context.
SRS a1 (PR 2FTS SENb S| @2 235t MGNREGA 203 Gisel
YETR AN

Write a critical note on the balance of payment situation of India during the
plan period.

ARFTIFICET OISR (ST TFLeH S W TGS GI! Te |
Critically examine the disinvestment policy of the Government of India.

OIS TR ([(RPIR Al disinvestment [ifed a3 (6 FCEHAETE ETR
N

Write a note on the Banking Sector Reformsin India since 1991.
S5 FIET (AT SIS IR CFea FFIF 73 @6 Bt =1ea

Discuss the Farm size productivity debate in Indian agriculture.
SR FRICS (IO SR ¢ TAMAReTOR| Ko #ca SNl el |

Criticaly evauate the recent demonetisation policy of the Government of
India.

O FEHIER Ao Kyuieae [ifod @pio FCEDARETS TR S |

8x2 =16

15x4 = 60

7+8

15

15

15

15

15
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eifofb oIt oy 5j23F Tearia 792id F5

Group-A
Rett-+

1 Answer any three questions from the following: 4x3 =12

fasfEie @-cieat foqit evie Tea niss

(a) For any two events, A and B, show that 4
P(AB) < P(A) < P(AuB)<P(A)+P(B).

Q-G 1fG 9Bl A @R B -3 (G SIS SPTOIG 2 sie <Al |

(b) For a binomia distribution, the mean and SD are respectively 4 and +/3. 4
Calculate the probability of getting a non-zero value from this distribution.
G oM IR T4 @ T AL TN 4 GR /3. @2 T @&F o
OIS e AT AN TSR F© ot el e

(c) Define a random variable. Find the probability that a continuous random 4
variable assumes a definite value.
3B PTG o1 k@ wie | @F o SIfifven TPTE 5e1ce @36 e S aze
AR TR 7 e

(d) A man draws two balls from a bag containing 4 white and 6 black balls. If 4
he is to receive Rs. 9 for every white ball which he draws and Rs. 6 for
every black ball, what is his expected gain?
@ AT 4 15 3w @3k 6 T FceT 36 =R GFEw & A (T Yo @1 Gl ARTm
T I @ & afelt Al 7 (oIeR & 9 BRFl @k elfsfb el AR &) 6
BIFt 711, O3 @ yfeT erepife #re e 9

(e) What do you mean by a‘sufficient’ estimator? 4
@36 Sufficient “ifs=itea ke wie )
(f) ““If Hois accepted at o;% level of significance, it will definitely be accepted 4

at a,% level of significance, where a,; < a,” — True or False? Give reasons.

“aft Ho, 1% I T 2 27, O3 O SR*I2 01,9% SIRed S 92 2,
T oy < " — 5F 7T 9 PIRePTZ A TN |
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2. Answer any one question from the following: 8x1=8
foafere @-I 90 it Tes niss

() Find the mean and variance from the Poisson distribution. 8
A fACIe (ICF 9T AR (Swsie fefd et
(b) (i) Define aprobability density function. 2+6
A GeIq A PICF A 2

(ii) Evaluate the probability density function from the following distribution
function.

R eI fAE I (A ABRA! T St e et

2¢

5 )
2

F(x) = —§+E 3x—X—, when 1<x<2

5 5 2

1 when x>2

when 0<x<1

3. Answer any two guestions from the following: 15x2 =30
fersfeife @-ceiea 7fo aeis Tea wies
(@ (i) Prove that for any two independent random variables, X & Y, 5+7+3
E(xy) = E(x). E(Y)
o F@ @ I X @GR Y ¥ e FEE e =W, O
E(xy) = E(x). E(Y)
(i) What isthe difference between SRSWR and SRSWOR?
SRSWR @3% SRSWOR =f@f 7f6a <) gl Fi
(iii) If, for aPoisson distribution, P(x=0) =P(x=1), find P(x> 0).
T ofer iR (Fq P(x=0) = P(x=1), &, & P(x>0)-43
foefa e

(b) (i) If (x,%, %5 --X,) isarandom sample from an infinite population with ~ (5+2)+8

n
variance o and X is the sample mean, show that %Z(xi -x)? isa
i=1

biased estimator of &, but the bias becomes negligible for large n. Give
an unbiased estimator of o”.

Xy, X, Xg -+ Xy GHT0 SEAI FHECHE S Al A FHEACHFE T 5 X =K

n
(enl o2, MAe @ %Z(x —X)? T o’ -9 GF *FAAreqE AT
i=1
TMe N-9F N T© IT W @ FFo{eyzel ©og SE@! F4 | G o -aF
G35 FFweireRls sifamisie fdiwe @t
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(i)

(© ()

(i)

(iii)

(@ ()

(i)

The marks of 5 students in Economics are 20, 24, 20, 30 and 26.
Random samples of size 2 are drawn without replacement. Calculate
E(X) and SE(X). How far the values of E(X) and SE(X) change if

samples are drawn “with replacement” method? (Here, X =sample
mean).

5 & 2itaR SdAIe A el 797 @fet 71 20, 24, 20, 30 € 261 @¥F (*F
SRSWOR #&fets 2 5w K3 s a1 waz w11 21 E(X) € SE(X) -
@3 W [ @ T SRSWR #&fers T :o2e 20 o E(X) 9
SE(X) W Feb! #ffafee 7o 2 (X = 1 99)

Explain, with example, the idea of ‘ confidence interval’ of a statistic.

Trizge TR @ Statistic @@ Confidence interval’ @3 «igaifs
BI&sI

Distinguish between Type-I and Type-I1 error for hypothesis testing.
Hypothesis testing @3 Ct@ Type-| € Type-1| @@= Sty w11 Fl

A sample of 900 members has a mean 3.4 cm and standard deviation
2.61 cm. Can the sample be regarded as drawn from a population with
mean 3.25 cm? Find 95% confidence interval for the population mean.

(Given Zy o5 = 1.96, where Z is standard normal variable).

900 s ff#% @I 6 TR 91T 3.4 cm € I [Rpyfs 2.61 cm @2 T
G QP TR (AF IRIE® ZRCR IR MG 26 3.25 cm —96! & 2w
341 T 9 GG SR CTH 95% confidence interval e

State and prove Bayes' theorem.
Bayes @3 ol e @ @fsiel wea
A random variable has the following probability function.

x [0|1|2|3|4|5]|6| 7
PX) | 0| k| 2k|2k|3k| K |2 ]| 7K+k

Determine (i) Constant k, (ii) P(x<6); (iii) P(x>6)
G5 HXTGY G TSR SCFHE T (RS Wez | ez weale
(i) &=k (i) P(x<6) @ (iii) P(x>6)

(iii) If f(x,y):{

2, 0<x<1 0<y<x
0, otherwise

Check if x and y are independent.
ARG S (A (9 61 TR X € y - 2

3042
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@

(b)

(©)

(d)

(€)

(f)

3042

Group-B
et

Answer any three questions from the following:
AEleTRe @-GIE! foaft et Ted nies
Ram intend to invest Rs. 2,500 (his only wealth) in arisky project that might

yield Rs. 10,000 if the project succeeds and nothing otherwise. If he is
indifferent between these two options and his utility function over wealth is

given as u=w"?, find out the probability that the project fails.
A @3 JRee evm 2,500 B (VR @G Few) Rfcaie Face v, e
23 e 2geT fSf 10,000 BRF! (Fe (910 AT | S 582 1 (It @)
3w ofg Feiera Sociatel SieowR u=w'? = @ fof ewt ezl J qee
FAR W 0T A, OF 25w I 20 FER el e
Show that in a two-person zero-sum game, Maximin < Minimax.
QT 72 (ICETRNG Y& X[+ (9P (910 (1€ @ Maximin < Minimax
Find Y* and C* from the following:

Y=C+l,+G,; C=25+6y"*; 1,=16,G, =14
fersferfae s7iiesel (G Y+ @k C* fadfa =l

Y=C+l,+Gy C=25+6y"?1,=16,G, =14
Show that the dua of the dual is primal itself in any linear programming
problem.
W4l (@, @ (@I @S0 31 (@R @aifik TP @Feg 7o (dual) e (7o
(dual) ¥R =mee 3367 (primal ) 311 |
Assume that the rate of investment is described by the function 1 (t) =12t¥3
and that initial capital stock is 25. (i) Find the time path of capital stock ‘K’
and (ii) amount of capital accumulated during the time intervals [0, 1] and
[1, 3].
@ A, [iEer 27 @@ () =12t1° @R TR 2REE e 2@ 251
(F) TR O k-7 el el et @k (1) [0, 1]@xk [1, 3] @2 T
IR S PFRICTR SR 2 el

Consider the following 2 x 2 inter-industry input coefficient matrix for a
Leontief static open model:

04 01
{0 2 0 6} and the direct input (Iabour) coefficients are [5, 2];

Check whether the system satisfy the conditions required for existence of
positive price vector.

a3 e T Feaibrre serr o fFElafie yarrg (%2 sefi Ssime
04 0.1
2o e Rewal Fc [07 06} GRR (A FCA 2RO A Teofne HRoefer

27 [5, 2]; TTHAHA LIS WiHl-(SFF 26T *Sefet 517e TR ol #1811 )

4x3=12
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5. Answer any one question from the following: 8x1=8
TS @-IE 9 2ies Ted wies
() Suppose that for a particular commodity, the demand and supply functions 8

areasfollows: q =a—bp (a,b>0)
and q°=-c+dp(c,d >0)
T AT P! G (0T BIwT @ (el Sieof=ee a7 fevsenots
q’=a-bp(a,b>0)
4R q°=-c+dp(c,d>0)

If the price-adjustment is directly proportional to excess demand; find out
the time path of price and interpret the different components of the
expression you have derived.

Q1 A W 2RISR 29 29 TS BRI 0w Ao, v AaE-oie figel
Al fdifee expression 57 Rfen seei st 7w

4 1
(b) Consider the following 2x2 matrix game A= {2 3} 4+(2+2)

(i) Find Nash equilibrium of the game
(i) Now suppose player A’s pay-off matrix of the above problem is

9 3
changed to {5 7} , then what are the effect on the value of the game
and optimal strategies of both players?

RIS 2x2 (It matrix & Reae= St A:B :ﬂ
(F) =Ifx Nash SRE) {6y i)

(@) T R AR o TR ARG 2 e E ﬂ arr
RO (IGR 1 oo [ ¢ T8 {ETRerE Sy i (Frieef

7SS 27 9
6. Answer any two guestions from the following: 15x2 =30
fasfeie @-cea 76 elvss Teg wies
(a) Solve the following linear programing problem with simplex method. 15

Frcerst oimfeos ARIC feve (ol (@erafbs s e
Minimize z = 4x, + 5%, + Xg
Subjectto= x +x,>9
X+ X <8

2X, = X325 %, %, % =0

3042 5 Turn Over



B.A./B.Sc./Part-111/Hons/ECOA-V11/2018

(b) Suppose the demand and supply functions are given as follows,

3=%(F{' —a) ad D, =y-0R; a,B,7,6>0
£ T vifent € @ SrorFe el fammer

S = 4R ~a) &K D=7 ~0R; @f,7.5>0

@ If Pt' =R_,, set up the difference equation and solve for the time path.

I B =R, = @ I34 (difference) el aifsfe wcal ¢ 7w ==
ST SN

(i) Find out al convergent and divergent conditions and illustrate your
answer in a supply-demand diagram.

- 2253 SIS (convergent) '€ S#RART (divergent) 26T *eaf fdy
M

(i) If B"'=R_,+A[R,-PR_,]; >0, set up the difference equation.

I R =R, +A[R,-PR.,]; 1>0 2 & I (difference) =6’
2o el

(c) (i) Consider the following input-output matrix:

3042

Agriculture | Manufacturing | Service
Agriculture 0.2 0.3 0.2
Manufacture 0.4 0.1 0.2
Service 0.1 0.3 0.2

The final demand for agriculture, manufacturing and service sectors are
10.1, 5.3 and 5.6 respectively. Find out the output produced in these three
sectors.

T Somia-Beoine (matrix) = Reasa s
| B | Rl
g [ 02|03 02

e [04]01] 0.2
@™l | 0.1]03|02

ot @ Terlifve BT T vifwt 25 9@ 10.1, 5.3 @ 5.6 fod GFa
Tesiins wearR 2ifqmet foefm e

(i) Setup and explain the “diet problem” as a standard example of a linear
programming problem.

@RF @alfl; e« e e Swizad IR A wifet e
MAIOR SACEAG FCA |

6+6+3
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(d) (i) Distinguish between ‘Pure Strategy’ and “Mixed Strategy” 3
R (F1ieT @ Tt (FiCea e 2N oo e

(if) Inatwo person zero-sum-game following is the pay-off matrix of A :
@5 72 I ¥y i (oI A -a3 (-7 ifess cret 2= 2+10

\1234
1/8 2 9 5
2|6 5 7 18
3|7 3 -4 10

(A) Write down the payoff matrix of B; (B) find out al possible pure
strategy solution or saddle point if any. Explain the procedure in detail.

(¥) B-«31 ¢oi-wre GG o1eall, (B e (et 522l <60 (967 e 716
(saddle point) fef St € w7 v Rzzel e

3042 7
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1. Answer any one question from the following: 15x1=15
e @-@IE 9F 0 207 Ted ries
(&) What are the causes of de-industrialization of Indian Handicrafts in the 15

nineteenth century?
Tafies *fortice oo 2BfiEd [Riesacs FiReef F & ¢

(b) Discuss the major features of the policy of ‘Discriminating Protection’ 10+5
followed in India between first and second World Wars. Analyze how this
policy contributed to the expansion of Indian industries.

2% ¢ RO [ATad Sede] AN OIS SIS (AT T M(6a 2L/
el DT T oo RiER SR 92 Sifeh Fer wwe sEfks
Reerae St

2. Write short notes on any two of the following: 5x2=10

fosfeTe @-GIel 767 Tom sk e Bl el

(a) Causesof commercialization of agriculture during British Rule
&t etare Fia AfferFiea FrerR

(b) Railway freight and fare policy in British Period
&t ©ite @R eries ¢ gretel dife

(c) Economic effects of ‘ Economic Drain’
QAT FEHIT SltoT el

(d) Recommendations of Fowler Committee.

TR S FopfmrR |

3043 1



